FLASHLIGHT MOUNTING KIT

130999 CIEEIEZIMBER,
EABRIGAMIEINS|

OJ/N
i i i PN P
.3 L4) L) l2) (7
i 1 i T

\ \ | {

I"\.I

1. MOUNTING BRACKET [2PCS] @

2. CLP [2PCS]

3. 5/16"x3/4"BOLT [2PCS)]

4. 5/16"WASHER [4PCS)]

5. #10 WASHER [2PCS]
6.
7
8

5/16" NUT [2PCS o) -
#10-24x5/8" MACHINE SCREW [2PCS] Q@
#10-24 NUT [2PCS] :

PLEASE READ BEFORE STARTING INSTALLATION

While MBRP Inc. has made every effort to ensure that all components of this kit are of
superior quality and properly packaged, it is the installer’s responsibility to ensure the
following before starting:

that ALL components shown above are present.

that ALL mating components fit together.

that there are no damaged components.

that the kit you have purchased is appropriate for yvour yvear and model of vehicle.
that the kit will not interfere with any modifications previously installed or planned.
that yvou have read and understand these instructions.

If you have any questions or are uncertain about any aspect of the installation of this
kit on your vehicle please contact your dealer before commencing installation.

130999 () 7/09 PAGE 1 OF 2




o EZAMBET
B3 -!ZITIEIHIE
b M
2007-2010 Jeep JK Flashlight Mounting Kiit

NOTE:

This kit requires the installation of @ff Camber Fabrications R oot
Rack Kit # 130717 or # 130927 prior to installation of this
Flashlight Mounting Kit # 130999.

1. The Flashlight Mounting Kit installs onto one of the four
Inner Support Brackets provided in the MBRP Roof Rack Kit.

2. Assemble the kit as per the illustration on the first page. Attach
each Bracket/Clip Assembly to the Inner Support Bracket of
your choice to suit your particular flashlight size.

See Figure 1.

Figure 1

Congratulations! You are finished. We are sure that you will enjoy this
Off Camber Fabirications product by MEEF /ince

130999 9/09 Page 2 of 2



